( Word Problems on Addition and Subtraction )

[1] There are 4289 birds in a sanctuary. 2438 more birds join during summer
and 1004 die in the same season. Find the number of birds currently present
in the sanctuary.

In a musical show, 3667 men and 2660 women participated in the first half.
1767 more men and 769 women participated in the second half. What was
the total number of men and women who participated in the show?

The population of San Francisco was 9,636,710 in 2021. It is expected to
increase by 2,171,235 by the end of 2022. What is the expected population
of San Francisco at the end of 20227
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Answers

[1] There are 4289 birds in a sanctuary. 2438 more birds join during summer
and 1004 die in the same season. Find the number of birds currently present
in the sanctuary.

Skl

In a musical show, 3667 men and 2660 women participated in the first half.
1767 more men and 769 women participated in the second half. What was
the total number of men and women who participated in the show?

5,434 men, 3,429 women

The population of San Francisco was 9,636,710 in 2021. It is expected to
increase by 2,171,235 by the end of 2022. What is the expected population
of San Francisco at the end of 20227

11,807,945
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